ots -

José isn’t exactly sure what he should do. He’s friends with both Yuto énd Tyshawn,‘hu(t this situation is getting more difficult
- to handle. The problem started in Physical Educatipn class. Almost every class, the teacher will show them a new sportor
game, then split the class up to play against each other. There's always one team that wins. The other team ALWAYS seems to

lose. José, Yuto, and Tyshawn are all equally competitive, but not as equally athletic. -

Yuto is the most athletic of the three. He's the fastest and st}rongesthoy in their class, and always seems to be the hest no matter
what sport he’s playing. Yuto hates losing, so he’s always challenging his teammates to win. Sometimes, Yuto takes it too far, :

though. He can he mean and yell at people.

Joséisan ahoVe average athlete. He's not the fastest, hut definitely not the sldwest.‘ No matter what sport they're playing, he's the
model teammate. He HATES losing, but he’s not going to yell at anyone ahout it. He's going to play as hard as he can to cover up the

mistakes of his teammates.

Tyshawn is definitely the least athletic of the three. Mayhe even the least athletic of the entire class. But he still HATES losing. So,
he'll yell at the other teammates to push them to play better. His teammates don’t like this because he isn’t helping their team

win either.

José, Yuto, and 1 i ! '

e tsttt;],eatli ng:{leasm alungi with most of the other 7th grade' boys, sit at oné'lon
» . own. Yuto throws a tater tot at him a ! .
STijt/shllzzzv:tstt:ps gngrlly closer to Yuto and says, “What did you s:[)'l?s'?'ls
& winner’s table. Find somewhere gls it!” o5
e to sit!
Ty_shawn quked around to see if anyone would help him, b

plckgd up his tray and found another tahle tosit at ,

: g table at lunch. Today, just Ii
Yuliusetrs can't sit atthis tahle! Findys;m:v:ll:l(:rlés::zz tTg SSTSW"
oy go:] tahnds ll[;] and says, “| §a|d, what | said! Losers like youcan't
izl e middle of them with several chairs separating them

€ o the other 7th grade boys did anything, including José. So Tyshaw;1

3 = .
y £




